

Schwarz function $w(z) \in A$ such that

$$\left\{ \frac{(s-t)zL'(z)}{L(sz) - L(tz)} \right\} = \phi(w(z)) \quad (z \in U, s \neq t) \quad (2.3.3)$$

If $p_1(z)$ is analytic and has positive real part in U and $p_1(0) = 1$, then

$$p_1(z) = \frac{1+w(z)}{1-w(z)} = 1 + c_1z + c_2z^2 + \dots \quad (z \in U) \quad (2.3.4)$$

From (2.3.4) we obtain

$$w(z) = \frac{c_1}{2}z + \frac{1}{2} \left(c_2 - \frac{c_1^2}{2} \right) z^2 + \dots \quad (2.3.5)$$

Let

$$p(z) = \frac{(s-t)zL'(z)}{L(sz) - L(tz)} = 1 + b_1z + b_2z^2 + \dots \quad (z \in U) \quad (2.3.6)$$

$$\frac{(s-t)z [1 + 2g_2a_2z + 3g_3a_3z^2 + \dots]}{(s-t)z + g_2a_2(s^2 - t^2)z^2 + g_3a_3(s^3 - t^3)z^3} = 1 + b_1z + b_2z^2 + \dots$$

which gives

$$b_1 = (2 - s - t)g_2a_2 \quad \text{and}$$

$$b_2 = (s+t)(s+t-2)g_2^2a_2^2 + (3 - s^2 - st - t^2)g_3a_3 \quad (2.3.7)$$

Since $\phi(z)$ is univalent and $p \prec \phi$, therefore using (2.3.5), we obtain:

$$p(z) = \phi(w(z)) = 1 + \frac{B_1c_1}{2} + \left\{ \frac{1}{2} \left(c_2 - \frac{c_1^2}{2} \right) B_1 + \frac{1}{4}c_1^2B_2 \right\} z^2 + \dots \quad (2.3.8)$$

Now from (2.3.6), (2.3.7) and (2.3.8), we have

$$(2 - s - t)g_2a_2 = \frac{B_1c_1}{2},$$

$$\frac{1}{2} \left(c_2 - \frac{c_1^2}{2} \right) B_1 + \frac{1}{4} c_1^2 B_2 = (s+t)(s+t-2)g_2^2a_2^2 + (3-s^2-st-t^2)g_3a_3$$

Therefore we have

$$a_3 - \mu a_2^2 = \frac{B_1}{2g_3(3 - s^2 - st - t^2)} \{c_2 - \nu c_1^2\},$$

$$(s + t \neq 2, s \neq t) \quad (2.3.9)$$

where

$$\nu = \frac{1}{2} \left\{ 1 - \frac{B_2}{B_1} - \left(\frac{s+t}{2-s-t} \right) B_1 + \left(\frac{\mu g_3 B_1 (3 - s^2 - st - t^2)}{g_2^2 (2 - s - t)^2} \right) \right\},$$

$$(s + t \neq 2, s \neq t)$$

Our result now follows by an application of Lemma 2.1.2. The result is sharp for the function defined by

$$\left\{ \frac{(s-t)zL'(z)}{L(sz) - L(tz)} \right\} = \phi(z), \quad s \neq t \quad (2.3.10)$$

and

$$\left\{ \frac{(s-t)zL'(z)}{L(sz) - L(tz)} \right\} = \phi(z^2), \quad s \neq t \quad (2.3.11)$$

If we take parameters s and t to be real numbers then by using Lemma 2.1.3 we obtain following result:

Corollary 2.3.2.

If the function $f(z)$ given by (2.1.1) belongs to $S^g(\phi, s, t)$, for

real parameters s and t such that $s + t \neq 2$ and $s \neq t$, then

$$|a_3 - \mu a_2^2| \leq \frac{1}{g_3|3 - s^2 - st - t^2|} \begin{cases} \left| B_2 + B_1^2 \left(\frac{s+t}{2-s-t} \right) - \mu B_1^2 \left(\frac{g_3(3-s^2-st-t^2)}{g_2^2(2-s-t)^2} \right) \right|, & \mu \leq \eta_1 \\ B_1, & \eta_1 \leq \mu \leq \eta_2 \\ \left| \mu B_1^2 \left(\frac{g_3(3-s^2-st-t^2)}{g_2^2(2-s-t)^2} \right) - B_1^2 \left(\frac{s+t}{2-s-t} \right) - B_2 \right|, & \mu \geq \eta_2 \end{cases}$$

where

$$\eta_1 = \frac{g_2^2(2-s-t)^2}{g_3B_1(3-s^2-st-t^2)} \left[-1 + \frac{B_2}{B_1} + B_1 \left(\frac{s+t}{2-s-t} \right) \right]$$

$$\eta_2 = \frac{g_2^2(2-s-t)^2}{g_3B_1(3-s^2-st-t^2)} \left[1 + \frac{B_2}{B_1} + B_1 \left(\frac{s+t}{2-s-t} \right) \right]$$

The result is sharp.

Example 2.3.3.

Let $(-1 \leq B < A \leq 1)$. If $f(z)$ given by (2.1.1) belongs to $S^g[A, B, s, t]$, for real parameters s and t such that $s + t \neq 2$ and $s \neq t$, then

$$|a_3 - \mu a_2^2| \leq \frac{(A-B)}{2g_3|3-s^2-st-t^2|} \begin{cases} \left| -B + \frac{(A-B)(s+t)}{(2-s-t)} - \frac{\mu(A-B)g_3(3-s^2-st-t^2)}{g_2^2(2-s-t)^2} \right|, & \mu \leq \eta_1^* \\ 1, & \eta_1^* \leq \mu \leq \eta_2^* \\ \left| B - \frac{(A-B)(s+t)}{(2-s-t)} + \frac{\mu(A-B)g_3(3-s^2-st-t^2)}{g_2^2(2-s-t)^2} \right|, & \mu \geq \eta_2^* \end{cases}$$

where

$$\eta_1^* = \frac{g_2^2(2-s-t)^2}{g_3(3-s^2-st-t^2)} \left[\left(\frac{s+t}{2-s-t} \right) - \left(\frac{B+1}{A-B} \right) \right]$$

$$\eta_2^* = \frac{g_2^2(2-s-t)^2}{g_3(3-s^2-st-t^2)} \left[\left(\frac{s+t}{2-s-t} \right) - \left(\frac{B-1}{A-B} \right) \right]$$

If $\eta_1 \leq \mu \leq \eta_2$, in view of Lemma 2.1.3, Corollary 2.3.2 can be improved.

Theorem 2.3.4.

If the function $f(z)$ given by (2.1.1) belongs to $C^g(\phi, s, t)$, then

$$|a_3 - \mu a_2^2| \leq \frac{1}{3g_3|3-s^2-st-t^2|} \max \left\{ B_1, \left| B_2 + \frac{B_1^2(s+t)}{(2-s-t)} - \frac{3\mu g_3 B_1^2(3-s^2-st-t^2)}{4g_2^2(2-s-t)^2} \right| \right\}$$

provided $s+t \neq 2$ and $s \neq t$. The result is sharp.

If we take parameter s and t to be real numbers, then we have

following result:

Corollary 2.3.5.

If the function $f(z)$ given by (2.1.1) belongs to $C^g(\phi, s, t)$, for real parameters s and t such that $s + t \neq 2$ and $s \neq t$, then

$$|a_3 - \mu a_2^2| \leq \frac{1}{3g_3|3 - s^2 - st - t^2|} \begin{cases} \left| B_2 + \frac{B_1^2(s+t)}{(2-s-t)} - \frac{3\mu B_1^2 g_3(3-s^2-st-t^2)}{4g_2^2(2-s-t)^2} \right|, & \mu \leq \eta_1^{**} \\ B_1, & \eta_1^{**} \leq \mu \leq \eta_2^{**} \\ \left| -B_2 - \frac{B_1^2(s+t)}{(2-s-t)} + \frac{3\mu g_3 B_1^2(3-s^2-st-t^2)}{4g_2^2(2-s-t)^2} \right|, & \mu \geq \eta_2^{**} \end{cases}$$

where

$$\eta_1^{**} = \frac{4g_2^2(2-s-t)^2}{3g_3 B_1(3-s^2-st-t^2)} \left[-1 + B_1 \left(\frac{s+t}{2-s-t} \right) - \left(\frac{B_2}{B_1} \right) \right]$$

$$\eta_2^{**} = \frac{4g_2^2(2-s-t)^2}{3g_3 B_1(3-s^2-st-t^2)} \left[1 + B_1 \left(\frac{s+t}{2-s-t} \right) - \left(\frac{B_2}{B_1} \right) \right]$$

The result is sharp.

Example 2.3.6.

Let $(-1 \leq B < A \leq 1)$. If $f(z)$ given by (2.1.1) belongs to $C^g[A, B, s, t]$, for real parameters s and t such that $s + t \neq 2, s \neq t$, then

$$|a_3 - \mu a_2^2| \leq \frac{A-B}{3g_3|3-s^2-st-t^2|} \begin{cases} \left| -B + \frac{(A-B)(s+t)}{(2-s-t)} - \frac{3\mu g_3(A-B)(3-s^2-st-t^2)}{4g_2^2(2-s-t)^2} \right|, \mu \leq \eta'_1 \\ 1, \eta'_1 \leq \mu \leq \eta'_2 \\ \left| B - \frac{(A-B)(s+t)}{(2-s-t)} + \frac{3\mu g_3(A-B)(3-s^2-st-t^2)}{4g_2^2(2-s-t)^2} \right|, \mu \geq \eta'_2 \end{cases}$$

where

$$\eta'_1 = \frac{4g_2^2(2-s-t)^2}{3g_3(3-s^2-st-t^2)} \left[\left(\frac{s+t}{2-s-t} \right) - \left(\frac{B+1}{A-B} \right) \right]$$

$$\eta'_2 = \frac{4g_2^2(2-s-t)^2}{3g_3(3-s^2-st-t^2)} \left[\left(\frac{s+t}{2-s-t} \right) - \left(\frac{B-1}{A-B} \right) \right]$$

Since

$$\Omega^\lambda f(z) = z + \sum_{n=2}^{\infty} \frac{\Gamma(n+1)\Gamma(2-\lambda)}{\Gamma(n+1-\lambda)} z^n,$$

We have

$$g_2 := \frac{\Gamma(3)\Gamma(2-\lambda)}{\Gamma(3-\lambda)} = \frac{2}{2-\lambda} \quad (2.3.12)$$

and

$$g_3 := \frac{\Gamma(4)\Gamma(2-\lambda)}{\Gamma(4-\lambda)} = \frac{6}{(2-\lambda)(3-\lambda)} \quad (2.3.13)$$

For g_2, g_3 given by (2.3.12) and (2.3.13) respectively, Theorem 2.3.2 reduces to the following:

Theorem 2.3.7.

Let $\lambda < 2$. If $f(z)$ given by (2.1.1) belongs to $S^\lambda(\phi, s, t)$ for $s + t \neq 2, s \neq t$, then

$$|a_3 - \mu a_2^2| \leq \frac{(2-\lambda)(3-\lambda)}{6|3-s^2-t^2-st|} \max \left\{ B_1, \left| \frac{B_1^2(s+t)}{2-s-t} + B_2 - \frac{3\mu(2-\lambda)B_1^2(3-s^2-t^2-st)}{2(3-\lambda)(2-s-t)^2} \right| \right\}$$

Corollary 2.3.8

If the function $f(z)$ given by (2.1.1) belongs to $S^\lambda(\phi, s, t)$, for real parameters s and t such that $s + t \neq 2$ and $s \neq t$, then

$$|a_3 - \mu a_2^2| \leq \frac{(2-\lambda)(3-\lambda)}{6|3-s^2-st-t^2|} \begin{cases} \left| B_2 + B_1^2 \left(\frac{s+t}{2-s-t} \right) - \frac{3}{2} \mu B_1^2 \left(\frac{(3-\lambda)(3-s^2-st-t^2)}{(2-\lambda)(2-s-t)^2} \right) \right|, & \mu \leq \eta_1'' \\ B_1, & \eta_1'' \leq \mu \leq \eta_2'' \\ \left| \frac{3}{2} \mu B_1^2 \left(\frac{(3-\lambda)(3-s^2-st-t^2)}{(2-\lambda)(2-s-t)^2} \right) - B_1^2 \left(\frac{s+t}{2-s-t} \right) - B_2 \right|, & \mu \geq \eta_2'' \end{cases}$$

where

$$\eta_1'' = \frac{2}{3} \frac{(3-\lambda)(2-s-t)^2}{(2-\lambda)B_1(3-s^2-st-t^2)} \left[-1 + \frac{B_2}{B_1} + B_1 \left(\frac{s+t}{2-s-t} \right) \right]$$

$$\eta_2'' = \frac{2}{3} \frac{(3-\lambda)(2-s-t)^2}{(2-\lambda)B_1(3-s^2-st-t^2)} \left[1 + \frac{B_2}{B_1} + B_1 \left(\frac{s+t}{2-s-t} \right) \right]$$

The result is sharp.

Special Case:

For $s = 1$ in aforementioned Theorems 2.3.1, 2.3.4, 2.3.7, Corollaries 2.3.2, 2.3.5, 2.3.8 and Examples 2.3.3, 2.3.6, we arrive at the results obtained by Goyal and Goswami (2009) and for $s = 1, t = -1$ in aforementioned Theorems 2.3.1, 2.3.4, 2.3.7, Corollaries 2.3.2, 2.3.5, 2.3.8 and Examples 2.3.3, 2.3.6, we arrive at the results obtained by Shanmugam et al. (2006).

References

Cho, N.E., Kwon, O.S. and Owa, S.

[1] Certain subclasses of Sakaguchi type functions, *SEA Bulletin of Mathematics*, **17** (1993), 121-126.

Frasin, B.A.

[2] Coefficient inequalities for certain classes of Sakaguchi type functions, *International Journal of Nonlinear Science*, **10** (2) (2010), 206-211.

Goyal, S.P., Goswami, P.

[3] Certain coefficient inequalities for Sakaguchi type functions and applications to fractional derivative operator, *Acta Universitatis Apulenses*, **19** (2009), 159-166.

Janowski, W.

[4] Some extremal problems for certain families of analytic functions, *Polska Akademia Nauk. Annales Polonici Mathematici*, **28** (1973), 297-326.

Ma, W. and Minda, D.

[5] A unified treatment of some special classes of univalent functions, *Proceedings of Conference of Complex Analysis*, *Z. Li., F. Ren, L. Yang, and S. Zhang(Eds.)*, International Press

(1994), 157-169.

Owa, S.

[6] On the distortion theorems I, *Kyungpook Mathematical Journal*, **18** (1) (1978), 53-59.

Owa, S., Sekine, T. and Yamakawa, R.

[7] Notes on Sakaguchi type functions, *RIMS Kokyuroku*, **1414** (2005), 76-82.

Owa, S., Sekine, T., Yamakawa, R.

[8] On Sakaguchi type functions, *Applied Mathematics and Computation*, **187** (2007), 356-361.

Sakaguchi, K.

[9] On a certain univalent mapping, *Journal of Mathematical Society of Japan*, **11** (1959), 72-75.

Shanmugham, T.N., Ramachandran, C. and

Ravichandran, V.

[10] Fekete-Szegö problem for a subclasses of starlike functions with respect to symmetric points, *Bulletin of Korean Mathematical Society*, **43** (3) (2006), 589-598.

Srivastava, H.M., Owa, S.

[11] An application of fractional derivative, *Math. Japon*, **29**

(3) (1984), 383-389.

Srivastava, H.M., Owa, S.

[12] *Univalent Functions, Fractional calculus and their applications*, Halsted Press/Jhon Wiley and Sons, Chichester/New York, (1989).

Srivastava, H.M., Owa, S.

[13] Univalent and starlike generalized hypergeometric functions, *Canadian Journal of Mathematics*, **39** (5) (1987), 1057-1077.

CHAPTER 3

**SOME STARLIKE AND CONVEXITY
PROPERTIES OF SAKAGUCHI CLASSES FOR
HYPERGEOMETRIC FUNCTIONS**

The main result of the chapter has been published as listed below:

- 1. “Some starlike and convexity properties of Sakaguchi classes for hypergeometric functions”, International Journal of Open Problems in Complex Analysis, 4(1), 2012, 11-19.**

This chapter deals with some characterizations for a (Gaussian) hypergeometric function to be in a subclass of Sakaguchi type functions. First we will discuss two lemmas for the two subclasses $S(\alpha, t)$ and $C(\alpha, t)$ of starlike and convex analytic functions defined in the open unit disc U . These subclasses are special cases of subclasses ($s = 1$) defined by (1.2.13) in Chapter 1. Then using these lemmas we shall obtain conditions for (Gaussian) hypergeometric function to be in the subclasses $S(\alpha, t)$ and $C(\alpha, t)$.

3.1. Introduction

Let A be the class of functions defined by (1.2.1) which are analytic and univalent in the open unit disk U .

A function $f(z) \in A$ is said to be in the class $S(\alpha, t)$ if it satisfies equation (1.2.13), where t is a real parameter.

We also denote by $C(\alpha, t)$ the subclass of A consisting of all functions $f(z)$ such that $zf'(z) \in S(\alpha, t)$.

We note that $S(\alpha, 0) = S^*(\alpha)$, the class of starlike functions of order α ($0 \leq \alpha < 1$) and $C(\alpha, 0) = C(\alpha)$, the class of convex functions of order α ($0 \leq \alpha < 1$) by Silverman(1975).

However, for this chapter, we consider a subclass T of A where T denotes the class consisting of the functions f of the form

$$f(z) = z - \sum_{n=2}^{\infty} a_n z^n \quad (a_n \geq 0) \quad (3.1.1)$$

obviously $T \subset A$. Let $F(a, b; c; z)$ be the (Gaussian) hypergeometric function defined as in Ranville (1971):

$$F(a, b; c; z) = \sum_{n=0}^{\infty} \frac{(a)_n (b)_n}{(c)_n (1)_n} z^n$$

where $c \neq 0, -1, -2, \dots$, and $(\theta)_n = \theta(\theta + 1)\dots(\theta + n - 1)$,

$n \in N = \{1, 2, \dots\}$ and $(\theta)_0 = 1$. We note that $F(a, b; c; z)$

converges for $|z| = 1$ and $\operatorname{Re}(c - a - b) > 0$. Also it is related to the gamma function by

$$F(a, b; c; 1) = \frac{\Gamma(c)\Gamma(c - a - b)}{\Gamma(c - a)\Gamma(c - b)}$$

Silverman (1993) gave necessary and sufficient conditions for $zF(a, b; c; z)$ to be in $S^*(\alpha)$ and $C(\alpha)$. For other interesting developments on $zF(a, b; c; z)$ in connections with various subclasses of univalent and p-valent functions, the reader can refer to the works of Carlson and Shaffer (1984), Cho et al.(2002), Goyal et al.(2012), Merkes and Scott (1961), Mostafa (2009), Owa et al. (2007), Ruscheweyh and Singh (1986) etc .

To establish our main results, we shall require results due to Owa et al. (2007) contained in the following Lemma:

Lemma 3.1.1.

(i) If $f(z) \in A$ satisfies

$$\sum_{n=2}^{\infty} (|n - u_n| + (1 - \alpha) |u_n|)a_n \leq 1 - \alpha, \quad (3.1.2)$$

for some α ($0 \leq \alpha < 1$), then $f(z) \in S(\alpha, t)$.

(ii) If $f(z) \in A$ satisfies

$$\sum_{n=2}^{\infty} n(|n - u_n| + (1 - \alpha) |u_n|)a_n \leq 1 - \alpha \quad (3.1.3)$$

for some α ($0 \leq \alpha < 1$) and $|t| \leq 1$, then $f(z) \in C(\alpha, t)$.

where $(u_n = 1 + t + t^2 + \dots + t^{n-1})$

3.2. Main Results

Theorem 3.2.1.

(i) Let $a, b > -1$, $c > 0$, $ab < 0$ and

$$1 + \frac{c - a - b - 1}{ab} \leq \frac{\alpha(c - a - b - 1)(1 + |t|)}{ab(1 - t)} \quad (3.2.1)$$

Then $zF(a, b; c; z)$ is in $S(\alpha, t)$.

(ii) Let $a, b > 0$, $c > a + b + 1$, and

$$\frac{\Gamma(c)\Gamma(c - a - b)}{\Gamma(c - a)\Gamma(c - b)} \left[\frac{ab}{(c - a - b - 1)(1 - \alpha)} + \frac{1}{1 - \alpha} - \frac{\alpha(1 + |t|)}{(1 - \alpha)(1 - t)} \right] \leq 2 \quad (3.2.2)$$

Then

$F_1(a, b; c; z) = z[2 - F(a, b; c; z)]$ is in $S(\alpha, t)$.

Proof (i): Since

$$\begin{aligned} zF(a, b; c; z) &= z + \frac{ab}{c} \sum_{n=2}^{\infty} \frac{(a+1)_{n-2}(b+1)_{n-2}}{(c+1)_{n-2}(1)_{n-1}} z^n \\ &= z - \left| \frac{ab}{c} \right| \sum_{n=2}^{\infty} \frac{(a+1)_{n-2}(b+1)_{n-2}}{(c+1)_{n-2}(1)_{n-1}} z^n \end{aligned} \quad (3.2.3)$$

According to (i) of Lemma 3.1.1, we must show that

$$\sum_{n=2}^{\infty} (|n - u_n| + (1 - \alpha)|u_n|) \frac{(a+1)_{n-2}(b+1)_{n-2}}{(c+1)_{n-2}(1)_{n-1}} \leq \left| \frac{c}{ab} \right| (1 - \alpha) \quad (3.2.4)$$

Note that left hand side of (3.2.4) diverges if $c < a + b + 1$.

Now using results

$$\sum_{n=2}^{\infty} (|n - u_n| + (1 - \alpha) |u_n|) \geq \sum_{n=2}^{\infty} (n - \alpha |u_n|)$$

and

$$(n - \alpha |u_n|) \frac{(a + 1)_{n-2} (b + 1)_{n-2}}{(c + 1)_{n-2} (1)_{n-2}}$$

(3.2.4) reduces to

$$\begin{aligned} &= \sum_{n=2}^{\infty} (n - 1) \frac{(a + 1)_{n-2} (b + 1)_{n-2}}{(c + 1)_{n-2} (1)_{n-1}} + \sum_{n=2}^{\infty} \frac{(a + 1)_{n-2} (b + 1)_{n-2}}{(c + 1)_{n-2} (1)_{n-1}} \\ &\quad - \alpha \sum_{n=2}^{\infty} \frac{(a + 1)_{n-2} (b + 1)_{n-2}}{(c + 1)_{n-2} (1)_{n-1}} |u_n| \\ &= \sum_{n=0}^{\infty} \frac{(a + 1)_n (b + 1)_n}{(c + 1)_n (1)_n} + \frac{c}{ab} \left[\sum_{n=0}^{\infty} \frac{(a)_n (b)_n}{(c)_n (1)_n} - 1 \right] \\ &\quad - \alpha \frac{c}{ab} \left[\sum_{n=0}^{\infty} \frac{(a)_n (b)_n}{(c)_n (1)_n} |u_{n+1}| - u_1 \right] \end{aligned}$$

in (3.2.4) we find that

$$\begin{aligned} &\sum_{n=0}^{\infty} \frac{(a + 1)_n (b + 1)_n}{(c + 1)_n (1)_n} + \frac{c}{ab} \left[\sum_{n=0}^{\infty} \frac{(a)_n (b)_n}{(c)_n (1)_n} \right] - \alpha \frac{c}{ab} \left[\sum_{n=0}^{\infty} \frac{(a)_n (b)_n}{(c)_n (1)_n} |u_{n+1}| \right] \\ &\leq (1 - \alpha) \left[\left| \frac{c}{ab} \right| + \frac{c}{ab} \right] = 0 \end{aligned} \tag{3.2.5}$$

$$(u_1 = 1, ab < 0, c > 0)$$

Since

$$|u_{n+1}| = |1 + t + \dots + t^n| = \left| \frac{1 - t^{n+1}}{1 - t} \right| \leq \frac{(1 + |t|^{n+1})}{1 - t} \leq \frac{(1 + |t|)}{1 - t}$$

as ($|t|^n \leq 1$), therefore (3.2.5) is valid if

$$\sum_{n=0}^{\infty} \frac{(a+1)_n (b+1)_n}{(c+1)_n (1)_n} + \frac{c}{ab} \left[\sum_{n=0}^{\infty} \frac{(a)_n (b)_n}{(c)_n (1)_n} \right] \\ - \alpha \frac{c}{ab(1-t)} \left[\sum_{n=0}^{\infty} \frac{(a)_n (b)_n}{(c)_n (1)_n} + (1+|t|) \sum_{n=0}^{\infty} \frac{(a)_n (b)_n}{(c)_n (1)_n} \right] \leq 0$$

or equivalently,

$$\frac{\Gamma(c+1)\Gamma(c-a-b-1)}{\Gamma(c-a)\Gamma(c-b)} + \frac{c}{ab} \frac{\Gamma(c)\Gamma(c-a-b)}{\Gamma(c-a)\Gamma(c-b)} \\ - \alpha \frac{c}{ab} \frac{(1+|t|)\Gamma(c)\Gamma(c-a-b)}{(1-t)\Gamma(c-a)\Gamma(c-b)} \leq 0$$

or

$$1 + \frac{c-a-b-1}{ab} \leq \frac{\alpha(c-a-b-1)(1+|t|)}{ab(1-t)}$$

which is the required inequality (3.2.1).

(ii) Since

$$F_1(a, b; c; z) = z - \sum_{n=2}^{\infty} \frac{(a)_{n-1} (b)_{n-1}}{(c)_{n-1} (1)_{n-1}} z^n \quad (3.2.6)$$

by (i) of Lemma 3.1.1, we need only to show that

$$\sum_{n=2}^{\infty} (|n - u_n| + (1 - \alpha) |u_n|) \frac{(a)_{n-1} (b)_{n-1}}{(c)_{n-1} (1)_{n-1}} \leq (1 - \alpha) \quad (3.2.7)$$

Now left side of (3.2.7)

$$= \sum_{n=2}^{\infty} \frac{(a)_{n-1} (b)_{n-1}}{(c)_{n-1} (1)_{n-2}} + \sum_{n=2}^{\infty} \frac{(a)_{n-1} (b)_{n-1}}{(c)_{n-1} (1)_{n-1}} - \alpha \sum_{n=2}^{\infty} \frac{(a)_{n-1} (b)_{n-1}}{(c)_{n-1} (1)_{n-1}} |u_n|$$

Noting that $(\theta)_n = \theta(\theta+1)_{n-1}$ then left side of (3.2.7)

$$= \frac{ab}{c} \sum_{n=2}^{\infty} \frac{(a+1)_{n-2} (b+1)_{n-2}}{(c+1)_{n-2} (1)_{n-2}} + \sum_{n=1}^{\infty} \frac{(a)_n (b)_n}{(c)_n (1)_n} - \alpha \sum_{n=1}^{\infty} \frac{(a)_n (b)_n}{(c)_n (1)_n} |u_{n+1}|$$

$$\begin{aligned}
&= \frac{ab}{c} \sum_{n=0}^{\infty} \frac{(a+1)_n (b+1)_n}{(c+1)_n (1)_n} + \left[\sum_{n=0}^{\infty} \frac{(a)_n (b)_n}{(c)_n (1)_n} - 1 \right] \\
&\quad - \alpha \left[\sum_{n=0}^{\infty} \frac{(a)_n (b)_n}{(c)_n (1)_n} |u_{n+1}| - |u_1| \right]
\end{aligned}$$

But this last expression is bounded above by $(1 - \alpha)$ if and only if (3.2.2) holds.

Theorem 3.2.2.

(i) Let $a, b > -1$, $ab < 0$, $c > a + b + 2$,

$$\begin{aligned}
&ab(a+1)(b+1) + 3ab(c-a-b-2) + (c-a-b-2)_2 \\
&- \alpha \left(\frac{1+|t|^2}{1-t} \right) (c-a-b-2)ab - \frac{\alpha(1+|t|)}{(1-t)} (c-a-b-2)_2 \geq 0
\end{aligned} \tag{3.2.8}$$

then $zF(a, b; c; z)$ is in $C(\alpha, t)$.

(ii) Let $a, b > 0$, $c > a + b + 2$ and

$$\begin{aligned}
&\frac{\Gamma(c)\Gamma(c-a-b)}{\Gamma(c-a)\Gamma(c-b)} \left[1 + \frac{(a)(b)(a+1)(b+1)}{(c-a-b-2)_2} + \frac{3ab}{c-a-b-1} \right. \\
&\quad \left. - \alpha \frac{(1+|t|^2)ab}{(1-t)(c-a-b-1)} - \frac{\alpha(1+|t|)}{(1-t)} \right] \leq 2(1-\alpha) \tag{3.2.9}
\end{aligned}$$

then $F_1(a, b; c; z) = z[2 - F(a, b; c; z)]$ is in $C(\alpha, t)$.

Proof (i): Since $zF(a, b; c; z)$ has the form (3.2.3), we see

from (ii) of Lemma 3.1.1, that our conclusion is equivalent to

$$\sum_{n=2}^{\infty} n(|n - u_n| + (1-\alpha)|u_n|) \frac{(a+1)_{n-2}(b+1)_{n-2}}{(c+1)_{n-2}(1)_{n-1}} \leq \left| \frac{c}{ab} \right| (1-\alpha) \quad (3.2.10)$$

Note that for $c > a + b + 2$, the left side of (3.2.10) converges.

Now left side of (3.2.10)

$$\begin{aligned} &= \sum_{n=2}^{\infty} (n^2 - \alpha n |u_n|) \frac{(a+1)_{n-2}(b+1)_{n-2}}{(c+1)_{n-2}(1)_{n-1}} \\ &= \sum_{n=2}^{\infty} \left[(n-1)^2 + 1 + 2(n-1) \right] \frac{(a+1)_{n-2}(b+1)_{n-2}}{(c+1)_{n-2}(1)_{n-1}} \\ &\quad - \alpha \sum_{n=2}^{\infty} \frac{(n-1)(a+1)_{n-2}(b+1)_{n-2}}{(c+1)_{n-2}(1)_{n-1}} |u_n| - \alpha \sum_{n=2}^{\infty} \frac{(a+1)_{n-2}(b+1)_{n-2}}{(c+1)_{n-2}(1)_{n-1}} |u_n| \\ &= \sum_{n=2}^{\infty} (n-1) \frac{(a+1)_{n-2}(b+1)_{n-2}}{(c+1)_{n-2}(1)_{n-2}} + \sum_{n=2}^{\infty} \frac{(a+1)_{n-2}(b+1)_{n-2}}{(c+1)_{n-2}(1)_{n-1}} \\ &\quad + 2 \sum_{n=2}^{\infty} \frac{(a+1)_{n-2}(b+1)_{n-2}}{(c+1)_{n-2}(1)_{n-2}} - \alpha \sum_{n=2}^{\infty} (n-1) \frac{(a+1)_{n-2}(b+1)_{n-2}}{(c+1)_{n-2}(1)_{n-1}} |u_n| \\ &\quad - \alpha \sum_{n=2}^{\infty} \frac{(a+1)_{n-2}(b+1)_{n-2}}{(c+1)_{n-2}(1)_{n-1}} |u_n| \\ &= \frac{(a+1)(b+1)}{(c+1)} \sum_{n=0}^{\infty} \frac{(a+2)_n(b+2)_n}{(c+2)_n(1)_n} + \frac{c}{ab} \left[\sum_{n=0}^{\infty} \frac{(a)_n(b)_n}{(c)_n(1)_n} - 1 \right] \\ &\quad + 3 \sum_{n=0}^{\infty} \frac{(a+1)_n(b+1)_n}{(c+1)_n(1)_n} - \alpha \sum_{n=0}^{\infty} \frac{(a+1)_n(b+1)_n}{(c+1)_n(1)_n} \left| \frac{1-t^{n+2}}{1-t} \right| \end{aligned}$$

$$\begin{aligned}
& -\alpha \frac{c}{ab} \left[\sum_{n=0}^{\infty} \frac{(a)_n (b)_n}{(c)_n (1)_n} \left| \frac{1-t^{n+1}}{1-t} \right| - |u_1| \right] \\
&= \frac{(a+1)(b+1)}{(c+1)} \sum_{n=0}^{\infty} \frac{(a+2)_n (b+2)_n}{(c+2)_n (1)_n} + \frac{c}{ab} \left[\sum_{n=0}^{\infty} \frac{(a)_n (b)_n}{(c)_n (1)_n} - 1 \right] \\
&+ 3 \sum_{n=0}^{\infty} \frac{(a+1)_n (b+1)_n}{(c+1)_n (1)_n} - \frac{\alpha}{1-t} \sum_{n=0}^{\infty} \frac{(a+1)_n (b+1)_n}{(c+1)_n (1)_n} (1+|t|^{n+2}) \\
&\quad - \frac{\alpha c}{ab} \left[\sum_{n=0}^{\infty} \frac{(a)_n (b)_n}{(c)_n (1)_n} \frac{(1+|t|^{n+1})}{(1-t)} - |u_1| \right]
\end{aligned}$$

This last expression is bounded above by $|\frac{c}{ab}|(1-\alpha)$ if and only if (3.2.8) holds.

(ii) In view of (ii) of Lemma 3.1.1 we need to show that

$$\sum_{n=2}^{\infty} n(|n - u_n| + (1-\alpha)|u_n|) \frac{(a)_{n-1} (b)_{n-1}}{(c)_{n-1} (1)_{n-1}} \leq (1-\alpha) \quad (3.2.11)$$

Now left side of (3.2.11)

$$\begin{aligned}
&= \sum_{n=2}^{\infty} (n^2 - \alpha n |u_n|) \frac{(a)_{n-1} (b)_{n-1}}{(c)_{n-1} (1)_{n-1}} \\
&= \sum_{n=0}^{\infty} (n+2)^2 \frac{(a)_{n+1} (b)_{n+1}}{(c)_{n+1} (1)_{n+1}} - \alpha \sum_{n=0}^{\infty} (n+2) \frac{(a)_{n+1} (b)_{n+1}}{(c)_{n+1} (1)_{n+1}} |u_{n+2}| \\
&= \sum_{n=1}^{\infty} \frac{(a)_{n+1} (b)_{n+1}}{(c)_{n+1} (1)_{n-1}} + 3 \sum_{n=0}^{\infty} \frac{(a)_{n+1} (b)_{n+1}}{(c)_{n+1} (1)_n} + \sum_{n=1}^{\infty} \frac{(a)_n (b)_n}{(c)_n (1)_n} \\
&\quad - \alpha \frac{ab}{c} \sum_{n=0}^{\infty} \frac{(a+1)_n (b+1)_n}{(c+1)_n (1)_n} |u_{n+2}| - \alpha \sum_{n=1}^{\infty} \frac{(a)_n (b)_n}{(c)_n (1)_n} |u_{n+1}|
\end{aligned}$$

Now by the same techniques used in the proof of Theorem 3.2.1 (i) above expression is bounded above by $(1 - \alpha)$ if and only if (3.2.9) holds.

Putting $t = 0$ in the above results, we obtain the results of Silverman (1993).

Corollary (3.2.3.)

(i) Let $a, b > -1, c > 0, ab < 0$ and

$$1 + \frac{c - a - b - 1}{ab} \leq \frac{\alpha(c - a - b - 1)}{ab}$$

then $zF(a, b; c; z)$ is in $S^*(\alpha)$.

(ii) Let $a, b > 0, c > a + b + 1$ and

$$\frac{\Gamma(c)\Gamma(c - a - b)}{\Gamma(c - a)\Gamma(c - b)} \left[\frac{ab}{(1 - \alpha)(c - a - b - 1)} + 1 \right] \leq 2$$

then $F_1(a, b; c; z) = z[2 - F(a, b; c; z)]$ is in $S^*(\alpha)$

Corollary (3.2.4.)

(i) Let $a, b > -1, ab < 0, c > a + b + 2$ and

$$ab(a + 1)(b + 1) + (3 - \alpha)ab(c - a - b - 2) + (1 - \alpha)(c - a - b - 2)_2 \geq 0$$

then $zF(a, b; c; z)$ is in $C(\alpha)$.

(ii) Let $a, b > 0, c > a + b + 2$ and

$$\frac{\Gamma(c)\Gamma(c - a - b)}{\Gamma(c - a)\Gamma(c - b)} \left[1 + \frac{(a)(b)(a + 1)(b + 1)}{(c - a - b - 2)_2} + \frac{(3 - \alpha)ab}{c - a - b - 1} \right] \leq 2(1 - \alpha)$$

then $F_1(a, b; c; z) = z[2 - F(a, b; c; z)]$ is in $C(\alpha)$.

References

Carlson, B.C., Shaffer, D.B.

[1] Starlike and prestarlike hypergeometric functions, *Journal of Mathematical Analysis and Applications*, **15** (1984), 737-745.

Cho, N.E., Woo, S.Y., Owa, S.

[2] Uniform convexity properties for hypergeometric functions, *Fractional Calculus and Applied Analysis*, **5** (3) (2002), 303-313.

Goyal, S.P., Bansal, S.K., Goswami, P.

[3] Some starlike and convex properties associated with p-valent hypergeometric functions, *International Journal of Open Problems Complex Analysis*, **4** (1) (2012), 1-12.

Merkes, E., Scott, B.T.

[4] Starlike hypergeometric functions, *Proceedings of American Mathematical Society*, **12** (1961), 885-888.

Mostafa, A.O.

[5] A study on starlike and convex properties for hypergeometric functions, *Journal of Inequalities in Pure and Applied Mathematics*, **3** (10) (2009), 8pp.

Owa, S., Sekine, T., Yamakawa, R.

[6] On Sakaguchi type functions, *Journal of Applied Mathematics and Computation* , **187** (1) (2007), 356-361.

Ranville, E.D.

[7] *Special Functions*, Chelsea Publishing Company, Bronx, New York, (1971).

Ruscheweyh, St., Singh, V.

[8] On the order of starlikeness of hypergeometric functions, *Journal of Mathematical Analysis Applications*, **113** (1986), 1-11.

Sakaguchi, K.

[9] On a certain univalent mapping, *Journal of Mathematical Society of Japan* **11** (1959), 72-75.

Silverman, H.

[10] Univalent functions with negative coefficients, *Proceedings American Mathematical Society*, **51** (1975), 109-116.

[11] Starlike and convex properties for hypergeometric functions, *Journal of Mathematical Analysis and Applications*, **172** (1993), 574-586.